Problem 1.6
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Determine the amount of power absorbed or supplied by the element shown if
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Problem 1.7
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Determine the amount of power absorbed or supplied by the element shown if
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Problem 1.8
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Determine the missing quantity in the circuits shown. 
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Problem 1.9
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Determine the missing quantity in the circuits shown. 
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Problem 1.10

[image: image39.wmf]-





V

1

= -6 V





+

I

= ?

P

= 12

W

[image: image40.wmf]-





V

1

= -6

V





+

I = -

4

A

P

= ?

Determine the missing quantity in the circuits shown. 
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Problem 1.11
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Determine the power supplied to the elements shown.
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Problem 1.14
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Two elements are connected in series, as shown.  Element 1 absorbs 
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of power.  Is element 2 absorbing or supplying power, and how much? 
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If element 1 is absorbing power, the direction of the current must be as shown.
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Problem 1.16
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Find the power that is absorbed or supplied by the circuit elements shown.
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